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(see next slide)
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If the nth derivative of y is denoted as y n and y = -sin x, then y7

 is the same as:

(A) y (B) dy (C)  d2y (D)  d3y  (E)  none of the above
                  dx        dx2           dx3

s(t) = position

 v(t) = s'(t) =  velocity

a(t) = v'(t) = s''(t)   = acceleration 

look at additional notation on p. 125

Stand and Deliver

Higher Order Derivatives 2.3

speed =
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s(t) =    gt2 + vot + so
    

Position Function
1
2

g = gravity

vo = initial velocity so = initial height

t = time
­ 32 ft/sec2

­ 9.8 m/sec2 
or

Average Velocity vs. Instantaneous Velocity
Average Velocity Instantaneous Velocity
Algebra slope
(no calculus needed)

Δt
Δs position

time=

pos.

time

s '(t)= v(t)

take the derivative

velocity at a point
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s(t) = ­16t2 + 100

a) Find the average velocity from [0.5, 2]

b) Find the instantaneous velocity at t = 2

s(t) = ­16t2 + 32t + 48
A penny falling is given by the function

a) When does it hit the ground?

b) What is the velocity when it hits the ground?

no calculator
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